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Q1. 1/8th part of an electric stick is black, 2/7th part of the
remaining is blue and % th of the remaining part is white
and remaining part is green. If the length of the green part
is 35 cm then find the length of the electric stick?

%ﬁmﬁaﬁﬁmus YT BTAT 8, AW BT 2/7 HIT
2 3R Y URT BT % YT PG 2, 3N AT YT

mﬁmmﬁssﬁtﬁ% @ fggd ot

A. 224 Hiex
B. 300 HIcx
C. 242 Hicx
D. 212 HIex
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@2.Monu’s income and Sonu’s income are In
the ratio 6:7 and their expense are in the
ratio 4:5 ,If each of them saves Rs Rs 3000
and Rs 2500 respectively, then find
Monu’s income

HI T A ST I hi ST T UTT 6:7 §
T I T T AqUTT 4:5 8, AR IAH A

YA AL 3000 T 3T 2500 FIA F=TAT
g, AT HIS T 3T ATq g

(1) 12000
(2) 15000
(3) 18000
(4) not
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Q3. If the ratio of the expenditure of A:B:C are
16:12:9 and their total income is Rs1530,
they saves 20%,25% and 40% respectively
then find the income of B ?

i< A: B: C &F SIUTd 16: 12: 9 g 3T Il Fel
T € 1530 g, AT & FHL: 20%, 25% 31T 40%
9T FLd g A< [T B &t 3T 1 F<?

(1) 480
(2) 450
(3) 600
(4) not




Q4. Rs 24400 is divided among 122
students.The ratio of the total amount of
money received by boys and girls is 5:7 , but
the ratio of money received by each boys and
girls is 3:8.Findthenumber of boys.
24400 T HT 122 FIAT & S IeT TAT| ASHI
S AT T TTH Tl TS T U1 5.7 B,

AT T ASh T ASTHAT ST ITH & HT
AT 3:8 Bl ASHhI hl H&IAT AT I (91T

(a) 85

(b) 80

(c) 42
(d) not
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Q5. Ais 25% more efficient than B. B takes 6

days more time to complete the work alone

than A takes to complete the same work alone.

If both works together then, in how many days

same work will be completed.

A, B 25% 3iftih 21T g1 B Pl 3(hal BT
3T HA ﬁA?{RTE?ﬂcoM P! 3hel JRT HA

T aTd 9HY “@rb‘ﬁ‘rr&rfﬁco T T
g | Fiq M| AT B X il a8l B fobaA
f& o qR1 82
(a) 16 days (b) 8( 2/ 3) days (c) 13( 1/ 3) days
(d) 21 days
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Q6. Efficiency of A is 40% more than that of B and ratio of
efficiency of Cto A is 6:7. Time taken by A and C together
to complete the work is 18 days. Find the number of days
taken by all of them working together to complete twice
of the same work?

Aﬁﬁﬁgﬁ@ﬂﬂﬁ@% 3fee 8 SR CH AP
E&Idl hI 3IJUId 6: 7 | hTY YT b ffA\’t?lTC_g{"IT[
[qeRR feram Trar T 18 ﬁ:?%l 39 GHI &I U 1Y
FEeTehR Teh é’eraﬁwwmﬁﬁaﬁﬁ‘rﬁﬁ
3T T ?

(a) 32 days (b) 24 days (c) 25 days (d) NOT




Q7. Vessels A and B contain mixtures of milk and
water in the ratios 4: 5 and 5:1 respectively In what
ratio should quantities of mixture be taken from A and
B to form a mixture in which milk to water is in the
ratio 5:4?

g1 A 3R B W g 3R U= &1 Y01 ST 4:5
MR 5:1 % ﬁ%,firwaﬁnmmﬁ?s%

59 3UTa # & 9IE o5 uep o1 figo dar
SITe fora# g 3fiR UT+T &7 ST 5:4 §1? 2

e A.2:5 B.4:3 C.5:2 D.None of these
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Q8. A vessel is filled with liquid, 3 parts of
which are water and 5 parts are syrup.
How much of the mixture must be drawn
off and replaced with water so that the
mixture may be half water and half syrup?

U S0 59 § U g3 8 f59d 3 YT g 8iR 5
T RRU g 1 foraar fRyor srer R 9w 3R
SdT 81 U THAT SITE arfes Y01 5 3t um=t
3R 3T RRY B

a) 1/3 (b) %

(c) 1/5 (d) 1/7
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7 Q9. A person standing on the bank of the river observes that the
angle of elevation of the top of a tree standing on the opposite bank
is 60°. When he moves 30 meters away from the bank, he finds the
angle of elevation is 30°. Find height of the tree.

Tl F TR @ <R &l %%ﬁﬂﬁﬂﬁﬁﬁﬂ@%ﬁeﬁmﬂ
600 g1 ST ﬁmﬁ@morﬁ?{ﬁ{&wwé av Y qar Ioar g %
Ww‘)%lﬁwﬁw@mwml

(1)15V3m (2)16V3m (3)5V3m (4)8/3m
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Q10. What will be the value of / AT ITd HX
gcosecz580 - % cot58%an320 -

gtam 3%tan37%an45%an53%an77°
(10 (202 (3)1 (4)-1
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Q11. What will be the value of / HT9
T HL cosX
if cosecX —cotX =5

(1) 13/15
(2) 12/11
(3) 11/15
(4) 12/13
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then find the value of 22

212
11

209
D) 37
0205
48
dy 55

x°—2xy+y*
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Find the value (x+y-z)3+27xyz
a.1
b.0
C. 2
d. -1

"_“*a SSC CPO/CHSL/CGL TIER Il 2023
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Q14. A person has to cover a distance of 6 km in 45 minutes.
If he covers one half of the distance in two thirds of the
total time, to cover the remaining distance in the remaining
time, his speed (in km/hr) must be

T T B 6 BT 3T gt 45 e B aa wt 21 3
q8 S FHA & < fagTs H sl ¢ a7 el 8, 1 AN
9T § Y @3 a9 HRA b T S9! Tid (fhdi/eer 1)
MRICIEY

(A) 4
(B) 6
(OFP.
(D) 15
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Q15. In a school, the average age of students is 6 years, and the
average age of 12 teachers is 40 years. If the average age of
the combined group of all the teachers and the students is 7
years, then the number of students is

Job»&opﬂﬁ@lanﬁﬁmﬁ 6 aY g, 3R 12 fRiefeb! b1

40 99 2| TfE Taft Rrerst ok
A o o ¥

(A) 376
(B) 396
(€) 400
(D) 416
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— Q16. A man purchase a gun and bullet for Rs
25800 he sold the gun at 13% profit and bullet
at 17 % profit ,if he sold the gun at 17% profit
and the bullet at 13% profit ,he would have
earn 80 more find cp of a gun

U ATEHT 25800 F9F H U dgah I AT @Liad]
g, g 13% TH T agh 3T 17 % AT I At
99dT &, L a8 17% ATH 9L a5 J=9d7T g 3T
13% T I AT 99T g, a7 9g 80 3T FHTaT &
FAGST T Y Teh g ol

1-13800

2-20300

3-6600

4-not




